THN\Y RKR—=)LiBEHR
8008 Y—X

8 m *om\
R $BEEMAA > — b 870 RS- M2 - PSR- 12
MI2X 45 FR
| / 3
-
Ao L g = A =
o | i . = 2 = -
= L | = | 3 -
o 4 \ S
o | | [N ] L =
= e - T o
o ikt N £ el = S gﬁoom =
3 i o © b S 3
S 2 | o U
N T 680 Sl 2 . [
) A |
= e 2 A\ '
| I T T 8
80 800 80 =
960
CR-#%EEERA T —b
MI2X4nFR
. R X Gl TH
B BEE | O 500 [ 400 200 [ 300 | 400 | 40 =
HIIEIE BALE  BEHEM 2019.06.26 [ CR- gx349-bERE & § @) @)
HEEIA - J970h-1vE - BREE “ H THEN-50 T 446kg
. . & ) v . o
B THAY RER—L #HiER 2| 800X800X600H (CR) Al 1720 2016.03.29 |g|C|&l et uUR




C R
A - A ¥ @
810 BES
138 om0 135 M2 24—k
(45EF)
S i : 24
%
LA
¥ o020 5| mamm:wwmem  |RC0)E (’
z A 1 i
B i 5]
Hl : "
o THAY BAR—)L B 2| CRUYY 600 HI 1720 [8] 2016.05.26 [E|CO[E%) PP




8008I =X

A-A F |
CR-#HEEERA Y — bk
960 M12X 45 Fr
960
SMEIA Y — R~ 100 210 130 480
V16X 45 7 40 40 | 100 210 260 210 100 |40
2 I | S ‘ |
- T T 1= e : s
S : Z | E //’— \\ ]
<8 i D13 1 = - //——\\ [ s
R 3| N s
Hils S 2600 N i
80 80 N /
= NS /I D16
A N A
L o - \ ,h/ [ L D13 __T
= X771 L, g
S
80 800 80
960
SEA P — | \
M16X 45 Fr CR-#REBERA Y —b
M12X 45 FR
HIEIEE LT a&ziaﬁnu .
HIEE H Y o
% M ® ®
=] B =]
e = & . Fq R [ sl 5\ m
S| THAY RAR—)L ELEhiE P 800_L#R200 i 295ke g 1/20 & 2016. 06. 24 |g|' )@l




800HI—X

A-A * @&
SMAA > B — b
- A Y —
M16X 47 P 360 Pl > — b oo
80 400 M12X 85 FR 40 80 200 320 200 8040
B | - T T T A
T \' - :212:”4‘:“1 = - / =
2| 680 i
- | gk o g D13
o %— |7'£--- [N 30 S P
g ([ D10 | S ] .
= 260 iy
D13 g‘j “““;'I_T—_Tr_—: _____ N D13 ol o
11 L 8 g
3/ D13
SMElA B — b . -
0% 12 5 80 200 | 160 480 A X
960 i
80 800 /lso
960
SMAlA 5 —b
M16 X475 Fr - M20X 45 PR
% 70228 |3| mmEuwmem  |B|7)Rl
3 w2 ®
x| 2017.12.21 || /omobns BREE al ;s
| 20220114 || sMEA-0Em Hed e
o [3 L 1 i
ATHNAY KR—IL EHR 2l 800 HER400 3 ddoke | 1/20 |s| 20160627 |BCDIE[E Btet U




